
H26 単元テスト 第 3 学年  二次方程式 

  組  号 氏名          得点    

 

○次の二次方程式を解きなさい。答えは右側の解答欄に記入すること。 

 

 (1) 362 x        (2) 484 2 x  

 

 

 

(3) 054 2 x          (4)   72
2
x  

 

 

 

(5)   0124
2

x        (6)   0163
2

x  

 

 

 

 

(7)    043  xx        (8) 0562  xx  

 

 

 

 

(9) 0122  xx          (10) 082  xx  

 

 

 

 

(11) xx 52 2           (12) 01682  xx  

 

 

 

 (13) 0232 2  xx          (14) 07102  xx  

 

 

 

 

(15) 013 2  xx        (16)   166  xx  

 

 

 

 

(17) 2422  xx        (18) xx 482   

 

 

 

 

(19)   xxx 312 2        (20)    454  xxx  

 

 

 

 

(21)   1236  xxx       (22)    1847  xx  

 

 

 

 

(23)     6234 2  xxx   (24)    96263  xx  

 

 

 

 

(25)    211142  xxx  

 

1 x  

2 x  

3 x  

4 x  

5 x  

6 x  

7 x  

8 x  

9 x  

10 x  

11 x  

12 x  

13 x  

14 x  

15 x  

16 x  

17 x  

18 x  

19 x  

20 x  

21 x  

22 x  

23 x  

24 x  

25 x  
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(15) 013 2  xx         (16)   166  xx  
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(21)   1236  xxx       (22)    1847  xx  

 

 

 

 

(23)     6234 2  xxx   (24)    96263  xx  

 

 

 

 

(25)    211142  xxx  

1 6x  

2 32x  

3 
2

5
x  

4 72 x  

5 324 x  

6 x －1 ，7 

7 x  3，－4 

8 x 5,1  

9 x 3,4   

10 x 8,0   

11 
2

5
,0x  

12 4x  

13 x 2,
2

1
  

14 235x  

15 
6

131
x  

16 x 8,2  

17 6,4x  

18 322 x  

19 2,
2

1
x  

20 5,4x  

21 
2

339 
x  

22 10,1x  

23 1,0x  

24 10,2x  

25 213x  


